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QUESTION 1

You want to access employee details contained in flat files as part of the EMPLOYEE table. You plan to add a new
column to the EMPLOYEE table to achieve this. 

Which data types would you use for the new column? 

A. CLOB 

B. BLOB 

C. BFILE 

D. LONG RAW 

Correct Answer: C 

 

QUESTION 2

Which three are true about dynamic performance views? (Choose three.) 

A. Read consistency is not guaranteed for these views 

B. Some of them display data that is useful for SQL statement tuning 

C. They display selected data from data dictionary base tables 

D. They can be queried only by SYS even when the database is open 

E. They contain information that is not available in data dictionary views 

Correct Answer: ADE 

 

QUESTION 3

Examine the command: 

SQL>ALTER USR skd ACCOUNT LOCK; 

Which two statements are true after the command is executed? (Choose two.) 

A. The SKD user cannot log in to the database instance 

B. The objects owned by the SKD user are not accessible to any user 

C. The other users can access the objects owned by the SKD user, on which they have access 

D. The password for the SKD user expires and the user is forced to change the password at the next log in 

Correct Answer: AC 
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QUESTION 4

The user HR owns the EMP table. The user HR grants privileges to the user SCOTT by using this command: 

Which statement is true after HR issues the REVOKE command? 

A. The command fails because SCOTT still has privileges. 

B. The command succeeds and privileges are revoked from JIM. 

C. The command fails because HR cannot revoke the privileges from JIM. 

D. The command succeeds and only HR has the privilege to perform the SELECT, INSERT, and UPDATE operations
on the EMP table. 

Correct Answer: C 

 

QUESTION 5

Which statement is true about the UNDO_RETENTION parameter when retention guarantee is not enabled? 

A. It is the time period after which the undo data becomes obsolete. 

B. It is the time period after which the committed undo data would be transferred to a temporary tablespace. 

C. It is the minimum time period up to which the committed undo data would be retained if free undo space is available. 

D. It is the time period after which the undo data is transferred to the Flash Recovery Area to provide read consistency. 

Correct Answer: C 

 

QUESTION 6

Which two statements are true regarding the SGA_TARGET initialization parameter? (Choose two.) 

A. It can be increased up to the value of the SGA_MAX_SIZE parameter. 

B. Increasing the value of the SGA_TARGET parameter distributes the increased memory among all the autotuned
components. 

C. Reducing the value of the SGA_TARGET parameter deallocates memory from both autotuned and manually sized
components. 
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D. Increasing the value of SGA_TARGET up to the value of SGA_MAX_SIZE disables the automatic shared memory
management feature. 

Correct Answer: AB 

 

QUESTION 7

You are managing an Oracle Database 11g database. The database is open, and you plan to perform Recovery
Manager (RMAN) backups. 

Which three statements are true about these backups? (Choose three.) 

A. The backups would be consistent. 

B. The backups would be inconsistent. 

C. The backups would be possible only if the database is running in ARCHIVELOG mode. 

D. The backups would be possible only if the database is running in NOARCHIVELOG mode. 

E. The backups need to be restored and the database has to be recovered in case of a media failure. 

Correct Answer: BCE 

 

QUESTION 8

Your database instance is started using the server parameter file (SPFILE). You executed a command to 

change the value of the LOG_BUFFER initialization parameter: 

ALTER SYSTEM SET LOG_BUFFER=32M SCOPE=BOTH; 

What would be the outcome of this command? 

A. The command succeeds only if Automatic Memory Management is not enabled. 

B. The command succeeds, but you need to restart the database for changes to take effect. 

C. The command returns an error because the size of the redo log buffer cannot be changed dynamically. 

D. The parameter value is changed and it comes into effect as soon as space becomes available in the System Global
Area (SGA). 

Correct Answer: C 

 

QUESTION 9

Examine the following steps performed on a database instance: 

1.
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 The DBA grants the CREATE TABLE system privilege to the SKD user with ADMIN OPTION 

2.

 The SKD user creates a table 

3.

 The SKD user grants the CREATE TABLE system privilege to the HR user 

4.

 The HR user creates a table 

5.

 The DBA revokes the CREATE TABLE system privilege from SKD Which statement is true after step 5 is performed? 

A. The table created by SKD is not accessible and SKD cannot create new tables 

B. The tables created by SKD and HR remain, but both cannot create new tables 

C. The table created by HR remains and HR still has the CREATE TABLE system privilege 

D. The table created by HR remains and HR can grant the CREATE TABLE system privilege to other users 

Correct Answer: C 

 

QUESTION 10

Which two statements are true about checkpointing? (Choose two.) 

A. The checkpoint frequency decreases with the smaller redo log file size. 

B. It ensures that all committed data is written to the data files during normal shutdown. 

C. The frequent full checkpoint in a database can cause the overall degradation of the database performance. 

D. It prompts the Checkpoint (CKPT) process to write data to the data files and redo information to the online redo log
files. 

Correct Answer: BC 

 

QUESTION 11

All the database users are presently connected to the database instance and working. The HR user has 

opened three database sessions and executed the following command in one of his sessions: 

SQL> UPDATE persons SET ccode=\\'U031\\' WHERE ccode=\\'U029\\'; 

123 rows updated. 
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SQL> DELETE FROM persons WHERE exp=\\'Y\\'; 

3 rows deleted. 

The SYS user opens a new session after HR executed the above commands. 

Which sessions can see the effect of the UPDATE and DELETE commands? 

A. All sessions of the HR user only 

B. All sessions of the HR user and the SYS user 

C. The session of the HR user that executed the commands 

D. All the sessions for which the database users have access privilege to the PERSONS table 

Correct Answer: C 

 

QUESTION 12

Which two are true about roles? (Choose two.) 

A. A role can be created only by a user with the SYSDBA privilege. 

B. A role can be granted only multiple system privileges not multiple object privileges. 

C. A role can be granted to another role. 

D. A role can be password-protected. 

E. Only one default role can be granted to a user. 

Correct Answer: CD 

 

QUESTION 13

Which three are true about the Automatic Workload Repository (AWR)? (Choose three.) 

A. It is maintained by executing the PL/SQL procedures in the DBMS_STATS package. 

B. It includes statistics that contain the number of distinct values per table column. 

C. It includes statistics that contain the number of rows per table. 

D. AWR data is stored in the SYSAUX tablespace. 

E. Automatic AWR snapshots are created by the Manageability Monitor (MMON) background process. 

F. By default, AWR data is retained for eight days. 

Correct Answer: DEF 
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QUESTION 14

In which situations does the Oracle Data Pump use external tables and not the direct path load while exporting a table?
(Choose all that apply.) 

A. if a table is not in a cluster 

B. if a table has an active trigger 

C. if a table has an encrypted column 

D. if a table has a column of data type LONG defined on it 

E. if a table has a referential integrity constraint defined on it 

Correct Answer: BCE 

 

QUESTION 15

Which two statements are true regarding the Oracle Data Pump export and import operations? (Choose two.) 

A. You cannot export data from a remote database. 

B. You can rename tables during an import operation. 

C. You can overwrite existing dump files during an export operation. 

D. You can compress the data during export but not the metadata because it is not supported. 

Correct Answer: BC 
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